201598 & =0l &t

2N

ol

N & O &

1[5}
02
2
ne
>
9
Jn
g
tol
=
>
bl

o & AIDH & 1t

A E A

A

A SAHEAMS
Cel: EIXIOHEMS(SSMLAISSLEEIAH) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Ol ch & Al DK 2 Dt 13,455,639 3,159,962 10,295,677
SAONEAS 3,125,237 2,887,089 238,148
EEXINZAIE (BEMHL AL SE3IAH) 3,125,237 2,887,089 238,148
=SS A2X XIS ALY 201,000 215,400 214,400
401 AIEHI L 20 100,000 100,000 0
01 Al&HI 100,000 100,000 0
OHERXMNLX T MEZHE(AMEE B4 L HII
£ HMel 8) 100,000,000& 14! 100,000
405 TtakF S| 1,000 5,400 A 4,400
01 AL ESH SHI 1,000 5,400 A 4,400
OSstat2kl 7 s &2el Jtollet 7
1,000,000 ~1CH 1,000
802 gt&t = DI EF 100,000 110,000 A 10,000
(ICEnIgel=g=g= 100,000 110,000 210,000
Odfetgrers 100,000,000& » 14 100,000
GlHiB(SESY) 2,924,237 2,671,689 252,548
801 Ol Il 2,924,237 2,671,689 252,548
01 etoiidl gl 2,924,237 2,671,689 252,548
OXt=0il &b ol Bl H 2,924,237,000& » 14 2,924,237
g Re NN 10,013,500 0 10,013,500
LEMATT L (SYMLAISELSIAH) 10,013,500 0 10,013,500
PFHA(R2)Lptad = H 10,013,500 0 10,013,500
401 AIEHI L 2 0] 10,013,500 0 10,013,500
01 A& HI 10,000,000 0 10,000,000
ORES eI EX 24
10,000,000, 000& 14! 10,000,000
03 Al 2 THHI 13,500 0 13,500
OANERUHI (RS LA ET])
13,500,000& » 14 13,500
HE2HZ U (0I2HZ AIDHE 1) 316,902 272,873 44,029
CH2HH(SSSE)(SSMHLALSESAH) 167,678 154,509 13,169
QlHA2IH(BEEY) 167,678 154,509 13,169
101 14l 116,712 108,757 7,955
01 2= 116,712 108,757 7,955
Ooss 76,177
>6= (282 2) 3,482,800& x121«12& 41,794
>7=2(2028) 2,865,200& x101x12& 34,383
O8z2=+¢ 6,349
>6= (282 ) 3,482,800& x50%* 121 23] 3,483




S A Ol AIDH 2 1t

MM HH2AZH (ODIH S AIHE D)
S CIESAH(BYEY ) (BYMNLAMNLSELGH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
>72 (208 2) 2,865,2003 x50%* 12! 23| 2,866
O&dZ+Y Jat2 L FIIHar3 2,880
>25E 0] & 130,000& * 191 x12& 1,560
>204 0] &~254 0] oF 110,000& 121+ 12& 1,320
OAZ2ZZ224E 5,358
>72 8,930 *300Al 2t %20l 5,358
OsY 4,320
> b 2 X+ 40,0003 #2021 x12& 960
DIIEFR LIS 20,000 601 x12& 1,440
DIIEFRE2AIIE JIt=2 80,000& »2021x12& 1,920
OXNHEHIEX4E 4,024
>Issn 503,000& 291 x43| 4,024
OJlsd2s4Y 720
>6~73 30,000 201 x12& 720
OJlsd=2s4Y Jiit= 1,200
>6~73 50,000 #2021 x12& 1,200
oAz 3,124
>6= 3,482,800 x 121 x4 1%~ 12& 1,714
>73 2,865,200 x 101 %4 1%*12& 1,410
OFHZ A 130,000& #2021 x12& 3,120
OY & =Ity| 7,619
>6= 3,482 ,800& x60%* 12! x23| 4,180
>73 2,865, 2003 *60%+* 121 x23] 3,439
O A I8 At 1,821
= 3,482 ,800& x86%* 121 x1/30%10L 999
>73 2,865,200 x86%* 121 x1/30x10 822
201 Lt 2| 2,800 2,800 0
04 =S =KH T Al & A b 2,800 2,800 0
OLFE=ENMNE 29 1,400,000& «201 2,800
204 = 2 4= A H| 12,180 12,000 180
02 =28 xH| 3,540 3,360 180
O&ZEXH| 3,540
= 155,000& 121+ 12& 1,860
>73 140,000& 121+ 12& 1,680
03 SEEREHI 8,640 8,640 0
O3JIEEMNBSRE 80,0003 601 x12& 5,760
OZIGEHI, M AZ A HALRE SR
80,000& *302! x12& 2,880
303 A2 9,758 8,791 967
02 A= 9,758 8,791 967
O&dAaN23 9,758




SH: DIHE AN D
Ha: Y2 YA (0N

S oo

thel: ASE2IH(BEE LALELEIIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,057,000 x172.5%* 12! 5,274
>7e 2,599,000 x172.5%x* 12! 4,484
04 ASRE=S 26,228 22,161 4,067
01 HA32E3 21,879 18,358 3,521
O === 136,250, 580& *7% 9,538
OEedZ 136,250,580& =4 .868% 6,633
O X+ERE=3 136,250,580& *4.0697% 5,545
OMEMaRES 136,250,580& +0. 119% 163
02 SCALEES 4,349 3,803 546
OHZEERES 136,250,580 & *2.995% 4,081
OEINRLEERES
136,250, 580 *2.995%*6 . 55% 268
I2ZH(BLEL ) (SSMHLALELSA) 149,224 118,364 30,860
l=AH(BEsY) 149,224 118,364 30,860
201 L2l 140,904 110,844 30,060
01 At 22l 126,644 110,844 15,800
O1g ==&l 74,100
D> Ofl &F A Q1 A4 1,200,000& x4 3] 4,800
> ZAAA QI 1,200,000& *13] 1,200
DolH22EEN 2 150,000& x4 3] 600
PEN2E =EH| 400,000 x12& 4,800
> &A1= X HI 150,000 +8LH 62! 7,200
>20149 BT AIEA 12,000,000& *13] 12,000
DAEEI =2 1,400,000& 23] 2,800
DAY =2 2,500,000 »23| 5,000
D> EsH2X P BXZ2Y B2 (s (2
Al 12,000,000& =100 At *13] 12,000
D> EsH2X P BXZ2Y B2 (s (2
A 5,000,000& *1JH At *13] 5,000
>SStk P Xz B8 HBE HMH(2
=) 10,000& *1,500% 15,000
D ESsa2X 7 HIZ2Y 82 2 W
2,700,000 » 14! 2,700
DABRY HIE FY 1,000,000& 14 1,000
O= &l 7,000 401 +43| x12& 1,344
OSsta2Xl+# SHLE =2
50,000,000& =14 50,000
OSstat2X 7+ 2L AR A (HHOIL) 2
i 100,000& = 12& 1,200
02 =224l 14,260 14,260
OS2 7 Lot AIRA (HEI0IH) 23
23 100,000& = 12& 1,200
oREs £5M 4,460
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Olch S AIDHE 1

SA B Ce HaS il
>PSI fEHE 1,930& »2,00024 3,860
DB 2HZ 300& *2,000AH 600
OsgsANEz=z20d ul
8,000,000 » 14! 8,000
OLOBAS A8 |2 23
50,000 12& 600
202 4 HI 8,320 7,520 800
01 =L 4 Hi 8,320 7,520 800
OZGMLAY = 200,000 221 x12& 4,800
O3J/guW=s ¢y 80,0003 #4021 +53] 1,600
O&H X 80,000& 22! x12& 1,920




